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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1.

Tl HauaH 310 Y9 U9 W A I O g |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

T UF % ERl 9 SIS TAR H HA YHR I JT / TR/ SREEH
B TR BRI AT 3 WY I el A |

If there is any error / difference / contradiction in Hindi &
English versions of the question paper, the question of Hindi
version should be treated valid.

) Y9 B AT & | YT A 22 Te 23 H A Lo e § |

All the questions are compulsory. Question Nos. 22 and 23 have
internal choices.

Tedsh U9 SR ST &l T8 STR-UfTel H & o |

Write the answer to each question in the given answer-book only.
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5. 9 U % UH U ¥ GHM 37 a6l ¥ §, 3T GH 9 A EA TH

g Faq AG |
For questions having more than one part carrying similar marks,

the answers of those parts are to be written together in
continuity.

6. UST HHE 1 % IR 9 (i, ii, iil 997 iv) €1 TIF 9T & IW F OR
Fhed (31, 9,  TH T ) &1 W& THeT H ITRER IW-YRaswr |
AHTHEN AT efehl dTeh ?f@ :

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part
has four alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as

mentioned below :

UIT HHIE el I HT HHTET

Question No. Correct letter of
the Answer

1. (i)

1. (ii)

—

. (iii)

—

. (iv)

1. () “OTF WA UST ST € W 9o ST ¥ ST g3 iR gar g1
Al T I8 HUT DA & AG €Y HI X G AT 8, T8 &
(37) a9 T (F) AAMTE WA=

(9) T I A= (X) oA AT

“Man is born free but he is everywhere in chains.” Which type of
liberty is indicated by Rousseau’s statement ?

(A) Economic liberty (B) Civil liberty
(C) Natural liberty (D)  Political liberty. 5
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(i) oW ST 4H I S B AR G A R, qB R

(a7) WA (@ FE

(&) omrht (3) =

The thinker who considered religion as ‘the opium for the

people’, is

(A) Ruskin (B) Mussolini

(C) Laski (D) Marx. %
(i) T TS STHHT ST 7 ST STIHA Hl T FA oY gHe

FAT, &

(3 ¥ (M =™

(@) arfEa (3) TR

The principle which was favoured by Gandhiji to remove
economic inequalities, is

(A)  Truth (B) Trusteeship

(C) Non-violence (D) Satyagraha.

(iv) T H Y OE TURYURT ST H O S TSI A Rl A o, o §

N |—

(31) HHARER (¥) FRRER

(®@) 3MEvErR () WEREER]

One of the following ideologies which did not influence

Mussolini, is

(A)  Socialism (B) Pragmatism

N[ —

(C) Idealism (D) Traditionalism.
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AT - T T 2 ¥ 5 Th 3 AALTRIHS §, ST Tedish ST U U< H o ¢ |

Note — Question Nos. 2 to § are very short answer type. Their answers are to

be given in one line each.

2.  9Y gl 3T TURYN H1 AW Fd2d S IWH ST H SUR AT i
T - TSIt bl JHEAT 21

Write the name of the school which assumes that law is based upon

the customs and traditions of the past. %
3.  HETH A 3ol % oAl Bl HAY I AR 7T ?
Which two slogans were given by Mussolini to the people of Italy ? %

4. TXPRATT U@ 37Y 9 I[RAR | WA=l & IR W Teh <R T |

Write down a difference between Traditional Liberalism and Modern

N |—

Liberalism on the basis of ‘Freedom’.

5. ‘UMM T H Teell S A e H A anl” ‘ga o et s |

“ ‘Fascio’ was the national symbol of ancient Italy.” What is the

meaning of ‘Fascio’ ? %
6. A % FHal dF deal ht geT il ST |
Explain any three elements of law. 1%

7. Uk oI de O<eh o ®F H T YR H @a=1dl o J0 § M ol Hidr
T3t <l QX HET TR 2 (IS )

As a political thinker which obstacles will you like to remove in the

way of liberty in India ? (Any three) 1%
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8. oI A% ST 9 T AU € ? 3T HIg I W HROT AT |

What do you mean by Political Apathy ? Give any two reasons of it. 1%

9. 7Y IHIAH FEHTTAT Bl UG T Bl TURI XA HAT dled &1 39 & MY TH
TeheAeh & WhIE dF QTEAT 1 Ferd &1 i |

You want to transform the nature of political participation. Suggest

any three means of modern technology to substantiate this. 1%

10. AN T % BT T U F A € 2 9 HIg A STUR Fargd |

Why do citizens obey the laws of the state ? Write any three bases of it.
1
13

11. I09H 9 § 3T 9 T[T i AL Hedl o o 8 hiAd Gea
2

What suggestions would you like to give to all the states to obey the

international duties in present time ? 1%

A — U9 &1 12 9 21 TF & YA U9 T I 3T ghd™ 100 V=l | &I 5 |

Note — Answer of each question from Question Nos. 12 to 21 should not

exceed 100 words.
12. A T8 = Tohdl o Hed Y Hl T HI 5 |
Explain the relation between Law & Morality. 3

13. TSI Ao T&F T o HIg - AT bt FaoT i o1 |

Explain any three features of political culture. 3
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14.

15.

16.

17.

18.

19.

20.

21.

6

T dh W d Ue W U d & T gray W i 51 |
Clarify the relationship between Political culture and General culture.

3

T oHIdd S & AdT o ®I H T IS dF GHSHROT H Y 9 Tl
TR ?
As a leader of a political party how will you play your role in political

socialization ? 3

Teh (oI T o3I o o=ell o ®9 H 379 o1 dh THSIR0] &l 7 Jacd
W 2 BT O HROT ST |

As a student of Political Science why would you give importance to

political socialization ? Give any three reasons. 3
AT o 3T YR o Feal A Bl | FeraT i 5 |

Explain any three forms of the right to Freedom. 3
TS oIk AR o o 31T i O ot 7o 37 UehRT i T el
2 U H

What are the three political rights which you would like to prefer for a

democratic citizen ? Discuss. 3

TT AT 3 YHRT o U TeI b g ol GHIT Fel hid & af 3Tl AT o
T A HROT <5 |

If you do not support the Historical theory of rights, give three reasons

for your disagreement. 3

“FTSTENE, Ueh 37 AP o o 0% gARYRT €1 GHSTEE S 3 AEddr
Fel A FHROT H Seeig i |
“Socialism is a vague but extensive comprehensive ideology.” Describe

any three reasons for the vagueness of socialism. 3

3ERAE & 8l & GGl hl U hi 5 |

Describe any two principles of Liberalism. 3
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e — U G&AT 22 TS 23 & TS G99 B I 500 VK F A YF H T oG |

Note — Answer to Question Nos. 22 to 23 should not exceed 500 words

22.

23.

each.

AT BT 7Y AT | 3T T &7 Y o FIEAT T 0 i 57 |
EECH

HHAFAT T & 2 THEAEAT & Y TS FhRIT T GUH &l 53 |

Write down the meaning of Liberty. Describe the means which can
protect it.
OR
What is equality ? Describe the meaning and kinds of equality.
2+6=8

AR §RT T AUNEA ST T H qod o G i TeAraIcaeh Al &l 51 |
3T

T S T SIS U gane TR F& | SR U Tehar o Feel

T |

Critically analyse the theory of surplus value as propounded by Marx.
OR
Explain the main characteristics of Gandhism and their relevance in

the contemporary circumstances. 9
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